

نام و نام خانوادگی کلاس ۱۳ پاسنامه تشریحی تکلیف شماره
 نام خانوادگی کلاس ۱۳ پاسنامه تشریحی تکلیف شماره

$$y = (a-1)x^2 + x + 3$$

$$\text{حالا } a = -\frac{b}{2a} = r = -\frac{1}{2(a-1)} = r \cdot a - r = -1 \rightarrow \boxed{a = \frac{r}{r-1}}$$

$$y = \left(\frac{r}{r-1} - 1\right)x^2 + x + 3 = -\frac{1}{r}x^2 + x + 3 \xrightarrow{y=0} -\frac{1}{r}x^2 + x + 3 = 0 \rightarrow x^2 - rx - 12 = 0$$

$$\rightarrow x = \frac{r \pm 1}{2} \rightarrow \begin{matrix} x_1 = 4 \\ x_2 = -3 \end{matrix} \rightarrow \boxed{x_1 = 4}$$

$$f(x) = mx^2 - dx + m$$

$$\Delta = (-d)^2 - 4m^2 = d^2 - 4m^2 \xrightarrow{\Delta \geq 0} d^2 - 4m^2 \geq 0 \rightarrow 4m^2 \leq d^2 \rightarrow |m| \leq \frac{d}{2} \xrightarrow{m < 0} -\frac{d}{2} < m < 0$$

$$\rightarrow \boxed{-\frac{d}{2} < m < 0} \rightarrow \begin{matrix} -\frac{d}{2} & + & \frac{d}{2} \\ | & & | \\ - & & + \end{matrix}$$

$$x_1 = \frac{r + \sqrt{a}}{2}, x_2 = \frac{r - \sqrt{a}}{2} \rightarrow x^2 - (x_1 + x_2)x + x_1 x_2 = 0$$

$$\rightarrow x_1 + x_2 = r, x_1 x_2 = \frac{r}{a} \rightarrow x^2 - rx + \frac{r}{a} = 0 \xrightarrow{\times a} \boxed{ax^2 - 11x + 1 = 0}$$

$$2x^2 - 11x + m + 1 = 0$$

$$3a^2 + 3b^2 = 12 \rightarrow 3a^2(1-a)^2 = 12 \rightarrow 3a^2 - 11a + 1 = 0 \xrightarrow{\div 3} a^2 - \frac{11}{3}a + \frac{1}{3} = 0 \rightarrow (a-1)^2 = 0 \rightarrow \boxed{a=1}$$

$$x + \beta = -\frac{b}{a} = \frac{1}{r} = \frac{1}{2} \rightarrow \beta = \frac{1}{2} - x$$

$$\text{و چون } \beta = \frac{1}{2} - x \rightarrow x < \beta \text{ برقرار است}$$

$$x\beta = \frac{c}{a} = \frac{m+1}{2} \rightarrow x\beta = 1 \cdot \frac{1}{2} = \frac{1}{2} = \frac{m+1}{2} = m+1 = 1 \rightarrow \boxed{m=0}$$

$$\text{حالا } \rightarrow (2, 9) \rightarrow (h, k)$$

$$\text{حالا } a = x_1 = 2$$

$$y = a(x-h)^2 + k \rightarrow y = 2(x-2)^2 + 9 \rightarrow -(x-2)^2 + 9 \rightarrow x-2 = \pm 3 \rightarrow \begin{matrix} x_1 = -1 \\ x_2 = 5 \end{matrix}$$

$$a = -1 \rightarrow 2(2-2)^2 + 9 = 0 \rightarrow 9a + 9 = 0 \rightarrow \boxed{a = -1}$$

$$\rightarrow \boxed{-1 < x < 5 \subseteq (-1, 5)}$$

$$ax^2 - vx + 9B = 0$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \frac{1}{-r} + \frac{v}{r} = \boxed{\frac{v}{r}}$$

$$\alpha_1 + \alpha_2 = -\frac{b}{a} \sim \frac{v}{a}$$

$$\alpha_1 \alpha_2 = \frac{c}{a} \sim \frac{9B}{a} \rightarrow \alpha \beta = \frac{9B}{a} = \alpha^2 = 9 \rightarrow \alpha = \pm 3 \rightarrow \begin{cases} \alpha = -3 \\ \beta = \frac{v}{r} \end{cases}$$

$$x^2 + mx - 5m = 0$$

$$a^2 - m\beta = 1$$

$$a + \beta = -m \rightarrow m = -(a + \beta) \xrightarrow{\text{Substitution}} a^2 - (-(a + \beta))\beta = 1 \rightarrow a^2 + \beta(a + \beta) = 1 \rightarrow a^2 + \beta a + \beta^2 = 1$$

$$\alpha \beta = -5m$$

$$\rightarrow (\alpha + \beta)^2 = \alpha^2 + 2\alpha\beta + \beta^2 \sim (a + \beta)^2 - 9B = 1 \rightarrow (-m)^2 - (-5m) = 1 \rightarrow m^2 + 5m - 1 = 0$$

$$\hookrightarrow m = \frac{-5 \pm \sqrt{25 + 4}}{2} \rightarrow m_1 = 2 \rightarrow \alpha + \beta = -2 \rightarrow \begin{cases} \alpha = -3 \\ \beta = 1 \end{cases}$$

$$S = -m = -2$$

$$F(x) = mx^2 + tx + \frac{m}{r} + v$$

$$\text{Case } a = -\frac{b}{ra} \rightarrow \frac{-r}{rm} = -\frac{r}{m} = k \rightarrow F(k) = 1 \rightarrow F(-\frac{r}{m}) = m(\frac{r}{mr}) + t(-\frac{r}{m}) + \frac{m}{r} + v$$

$$\rightarrow \frac{r}{m} - \frac{r}{m} + \frac{m}{r} + v \rightarrow F(-\frac{r}{m}) = -\frac{r}{m} + \frac{m}{r} + v = 1 \rightarrow -\frac{r}{m} + \frac{m}{r} = 1 \rightarrow -1 + m^2 = rm \rightarrow m^2 - rm - 1 = 0$$

$$m = \frac{r \pm \sqrt{r^2 + 4}}{2} = \frac{r \pm 4}{2} \rightarrow \begin{cases} m_1 = 2 \\ m_2 = -1 \end{cases} \rightarrow F(x) = -2x^2 + tx + 2 \rightarrow x = -1, 2 \rightarrow \boxed{k=2}$$

$$F(x) = a(x-r)^2 + y \xrightarrow{(0,4)} 4 = a(0-r)^2 + y = 4 = 4a + y \rightarrow \boxed{a = -\frac{1}{r}}$$

$$F(x) = -\frac{1}{r}(x-r)^2 + y \xrightarrow{F(x)=0} -\frac{1}{r}(x-r)^2 + y = 0 \rightarrow (x-r)^2 = ry \rightarrow x-r = \pm \sqrt{ry} \rightarrow \begin{cases} x_1 = r + \sqrt{ry} \\ x_2 = r - \sqrt{ry} \end{cases}$$

$$\rightarrow \frac{1}{\alpha_1} + \frac{1}{\alpha_2} = \frac{\alpha_1 + \alpha_2}{\alpha_1 \alpha_2} = \frac{r + \sqrt{ry} + r - \sqrt{ry}}{4 - ry} = \frac{r}{-1} = \boxed{-\frac{1}{r}}$$

$$x^2 - (fa + f)x + (fa^2 + 9a + r) = 0$$

$$\rightarrow \alpha_1 + \alpha_2 = fa + f \xrightarrow{\alpha_1 = r} r + \alpha_2 = fa + f \rightarrow \alpha_2 = fa + f - r$$

$$\alpha_1 \alpha_2 = fa^2 + 9a + r$$

$$r(fa + f) = fa^2 + 9a + r \rightarrow 1a + f = fa^2 + 9a + r \rightarrow fa^2 + 9a + r - 1a - f = 0$$

$$\rightarrow fa^2 - 2a - 1 = 0 \rightarrow \frac{r \pm \sqrt{r^2 + 4}}{f} \rightarrow \begin{cases} a_1 = 1 \rightarrow \alpha_2 = 4 \\ a_2 = -\frac{1}{f} \rightarrow \alpha_2 = \frac{r}{f} \end{cases}$$